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> Hg: 10048 cm

(E=7H4 vk 2217 A H)
= (ZF°] 8cm ¢ HF9] 4HK)
=8x3.14 x4 = 100.48( cm)
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>
> HE D 2386.4cm?

Ayol)= (3 TAY Hol)x2+ (A Hol)
=(10x10x3.14x2) + 10 x 2 x 3.14 x 28
= 628 + 1758.4 = 2386.4( cm?)
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® 100.48cm? @ 105.76cm? ® 116.28cm?
@125.6cm3 ® 150.76cm?

o] Zol)=12.56 + 3.14 + 2 = 2(cm)
159 F1])=2x2x3.14 X 10 = 125.6(cm?)
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2 138 9] 2] E0] 4cm, =0]7F Tem Q1 Y759 A=
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> ZE 64.24cm

o]
1=

~&B

715 A=A A S 7t2 o] dol= 47T ¥
o] Eeet g5yt

(2%x2x3.14) x4+ (7x2)

= 50.24 + 14 = 64.24( cm)
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@D 6x6x3.14x6 =678.24(cm?)
@ 4x4x3.14x 15 = 753.6( cm?)
@ TxTxT7=2343(cm?)

@ 3 2429 FolE [ Jem 2} 5t

[ Ix[ Jx6=216,] |x[ ]=36,] ]=6(cm)

whatA BuE 6 x 6x 6 = 216(cm?) GU T

® Y] §gtz] 0] 15.7+ 3.14 + 2 = 2.5(cm)

o|B g Hul:25x25x3.14%x 6 = 117.75(cm?) YU o}
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5x5x314x[ |=628, [ |=8(cm)

whebA ALY O] 99 dol=

(10X 3.14 + 8) x 2 = 39.4 x 2 = 78.8(cm) YYr}.

242k o) Aol Pl 947150 olet T4
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=50 AU @l A= &= - E O@oll %A ¥ =°l=5cem

7HEUH. @l A" =9 E°lE 7oA 2.

o

[er N

> 5cm

—
.

>
> M. 15.36cm

o] 91

=9

rr

Lo

9] 2 o @ 25

i

@ =5l Eolde =
Hul= ZEU
(@] &9 F1) : 8x8x3.14 x5 = 1004.8( cm?)
@2 B9 =0l |:| cme}t 519,

@e] =2 51

5x5x3.14x[ |x g = 1004.8( cm?)

| ot

785x[ |x g = 1004.8
5
[ ]x 5 = 10048785
5
X = =128
L=

[ ]=128x g
|:| = 15.36( cm)
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_-90.24cm _ _
1O
!
1
50.24cm
‘\
O
\
'F:.* cm

>
[> HEH 18.24cm

(FH9] 712) = (<l o] <] Ao))

= (299 A7) x3.14
(U] 2]5)=50.24 + 3.14 = 16( cm)
(¥71%59] =0])=50.24 — 16 — 16 = 18.24( cm)
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45°> 4N
20cm
@ @

> HE 16.4cm

S
L
1—

©\, OV
45° 45°
*20cm”

@2 BHolE T4,
@, ®<] ¥ol @ 20x20 x 3.14 + 8 = 157( cm?)
@2] ol @ 20 x 20 + 2 = 200(cm?)
= (157 x 2 + 200) x 20 = 10280( cm?)
(@] &°]) =(F1)+(BH°l)
= 10280 + (20 x 20 x 3.14 + 2)
= 10280 + 628
=16.36--- — 16.4( cm)
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> HEH: 213.52cm?

BylolE Fsto] F Hi g grofl 919 22 47159 dE oot
ol 2 97152 GuolE 78 F Hgick
(4%x4%x314%x2)+ (4%314%x3+8x%x3.14%x3)

= 100.48 + 113.04 = 213.52( cm?)




